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mNPEETIEST] 2,000
OA &2t = 42 2,000
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A sI=Y J=XE=

BH: =& Zoig NA(SYHYLN/5Y - 58)
CHol: SEXCI|E BB (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
s 48,000
= 48,000
02 Zeltl 2,000 0 2,000
OsJlHus2XSAIE4 X122l 2,000
s 1,000
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03 AlZ=C0HI 2,000 0 2,000
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s 1,000
= 1,000
405 KHaHFE SHI 10,000 0 10,000
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s 5,000
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s 267,000
01 XXSHHMA2EE 267,000 0 267,000
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s 267,000
SE M2y 24 1,724,131 1,461,610 262,521
= 1,161,291
= 562,840
sgolssHisy 353,550 252,350 101,200
308 AtXIHXMSOIH 183,750 140,150 43,600
01 XXHHILEXZ 183,750 140,150 43,600
Osgoties3easaxe
25,0003 *14,0005 *30/100 105,000
O4HI22 224 X2
5,000% *2,5005*30/100 3,750
UsENEAR=3 22
2,000,000 *25% 30/ 100 15,000




2AM: sgII=R JI=Xa=
=

Do =z Beis N (SUNYLN /Y - 5E)
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- T T Ns EECES &= Ol AFOH s
— T

2,000,000 25 *30/100 15,000
OsEXNEXNTUHa ZBHIXI#
30,000% *5,000& *30/100 45,000
403 AXIEHSXH=01H 169,800 112,200 57,600
01 XXEHHMA=EX 169,800 112,200 57,600
LE s4-HA A OHRAFS
2,000,000& 227 2~ *30/100 13,200
SsENENHEE - IHNE2SE
5,000, 000% 227 2~ *30/100 33,000
O4-He| AR S B =sHI = HMOI==(0I2HE =
=24) 10,000, 000& *22J1 2 *30/100 66,000
Ot d4-He| A M S KA
2,000, 000% *46J4 2~ *30/100 27,600
OZSHH - Slsdiist = A Z M X
el 20,000, 000& *5J4 2 *30/100 30,000
s NssEa2st 18,000 15,000 3,000
403 AXIEHSXH=01H 18,000 15,000 3,000
01 XXEHHMA2EX 18,000 15,000 3,000
OsJIAnSEdEH 22
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HEsgllzns(sgd=208ad) 221,081 192,000 29,081
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=Z 25 N (SYHYSa/5Y - 5E)
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301 LerEAZ = 14,500
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SAN: SIS JENAR
M =& g3 N (sPHLe/5g - 58)
& =& d20d 24 (EH9|:® <)
- _ ez
SN-EHH S (3H) - HEAY - BES Ofl &+ o4 il i~ o Hnz2
EEEPIETIESIPTInEYCEN
7,0002%257] x150% 26,250
DS A 2HAlH| 2,0008! +500% 1,000
AlgRe MAD|E X2 2,099,200 2,414,990 A315,790
2 1,332,500
& 766,700
AYRS A (M SESAIY) 454,500 390,000 64,500
=2 454,500
403 XbXICHAIS KH2 0l ® 454,500 390,000 64,500
2 454,500
01 RXIESHAE2E 454,500 390,000 64,500
OMSESAY 454,500
= 454,500
S MY E 5ol 5 377,000 309,000 68,000
403 XHXISHH S 20| H 377,000 309,000 68,000
01 RXIESHA=2EE 377,000 309,000 68,000
OSHSASHMASBAPE Al
500,000,00024 174 2 %20/ 100 100,000
DDENHASEUWSETY
12,000, 0002 *107H 2 %30/100 36,000
WEE N NPl
30,000, 0002 *7JH £ 30/ 100 63,000
ODESAMEXSH0IIZAIL IS
200,000, 000! * 17§ 220/ 100 40,000
OHSATHAOIHOIHE RS A
50,000, 0002 *37H £ 30/ 100 45,000
ORMHISXAS2ATSTY
10,000, 0002 *57H £ +30/100 15,000
OBSSAMERS
2,000,000 1007 230/ 100 60,000
DEIZHCHER e
30,000, 0002 *2JH £ %30/ 100 18,000
gRSASH 15,000 39,000 24,000
403 XHXISHH S K20l & 15,000 39,000 24,000
01 RXIESHA=2EE 15,000 39,000 24,000
mEES=ESE =SS EINPIES
5,000, 000! 107K £ 30/ 100 15,000
BHEBHSAIIZ (MBS AY) 135,000 215,000 80,000
2 135,000

_12_




A sI=Y J=XE=
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ol AIZIRIE MAD| B XIS (B9l &9
_ _ MNuE o
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
403 TEXISHHISXHEO0IH 135,000 215,000 80,000
= 135,000
01 RXSHIZ2E 135,000 215,000 180,000
O8ZEHSHIISAIY 135,000
= 135,000
JEEESER 125,000 90,000 35,000
403 EXISHHISAHEO0IH 125,000 90,000 35,000
01 RXNSHIZ2E 125,000 90,000 35,000
(JGAPS S Ot M AFCH | 2 S
20,000, 000! #57 £:%30/100 30,000
OHgHEss2el
5,000,000 *107H £:+30/100 15,000
OESAY (2L ST K&
10,000,0002 * 1074 4 *30/100 30,000
DS sLRSIEALLT
100,000,000 »17H 4 %50/ 100 50,000
WSS Y (WS Y SHAI|SA-XE) 37,200 32,200 5,000
= 18,600
= 18,600
101 Q124 9,600 8,800 800
= 4,800
= 4,800
10 JRAN2ENSE+ 9,600 8,800 800
BEEEELELEE P 9,600
=2 4,800
= 4,800
201 Y2yl 16,200 10,000 6,200
= 8,100
= 8,100
01 At=2t2lH| 16,200 10,000 6,200
EEEER=Y] 16,200
OHHEIHSIELSUYNERUS 16,200
= 8,100
< 8,100
202 01t 11,400 11,400 0
= 5,700
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202 O44| T 5,700
01 =2UWdHI 11,400 11,400 0
OYaiso &bl 11,400
2 5,700
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nia=ige: RPN IRCRe-Nna=ige: o PNIE-INEZD! 374,400 682,800 308,400
= 374,400
308 XXIEHXMSOIA 374,400 682,800 308,400
= 374,400
01 XXNHHBIAEXZ 374,400 682,800 A308,400
Olstds&b29 374,400
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OIS0 AMAISAIE 350,000
= 350,000
AHXNS)| =22 52,900 71,790 A 18,890
201 2Bt2Ad| 24,900 32,650 NT,750
01 AtR22lY| 21,400 27,650 6,250
Jget=sH| 15,000
OJIsXNEREsses 15,000
Osdse 2,000
OZANTE S 2,000
Qo= 800
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O= &l 1,600
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SN SIS JEXAR
M 5Z 225 N (SPHYN/5Y -5

cel: L=me MdlEES (258 8)
SA B S(3) - MEANY - B 0 &t S HDE2
ASHSAH(MIIEE AL = 885,000

08 TASHS K0 885,000 731,000 154,000
2 885,000

0l AACHREEE 885,000 731,000 154,000
BPCEEEN 885,000
= 885,000

DM TS B4 1,003,500 1,005,000 1,500
= 600,000
= 403,500

03 TASHSKHZOIF 1,003,500 1,005,000 A 1,500
= 600,000
< 403,500

01 DA 7,003,500 7,005,000 21,500

50,000, 000:& 47K 2~ *30/100 60,000

460,000,0002!*30/ 100 138,000
OSSN
10,000, 0002 * 107 £ %30/ 100 30,000
CIAR 22 2 ALTH B
50,000, 0002 27H 2 +30/ 100 30,000
k4 TH B T 4 24 2 185,000, 0002 *30/ 100 55,500
ODeSSEHEIIAY
10,000,0002 * 107 £ %30/ 100 30,000
Os=ASUSHIIREF
6,250, 0002 *167H 2 *30/ 100 30,000
DRSS MASTES
10,000, 0002 * 107 £ %30/ 100 30,000
ORI S A 3£ A (0/2) 600,000
= 600,000
PSSR E=InE-2F-TE PPN, 412,500 279,500 133,000
403 XXISHSKHZO0IH 412,500 279,500 133,000
01 RISHH =R E 412,500 279,500 133,000
OASHO A TRAIY
10,000,0002 *407H £ %30/ 100 120,000
CI41 H 401l LA X1 01 2 01 Lk 21271 X XH b
15,000,0002 *37H 2 ¥30/100 13,500
EEN VSN =S N
30,000, 00021 *47H %30/ 100 36,000
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SN sIIER JEXRR
By sz 28 N (SPHSLA/52 -

CHel: ASXS AR B (258 8)
_ _ MEC
A -3 -H2A(SH) - HEAMY - BES O AF K @}\_FOH Hlws2
e ML= R R =S
20,000, 0002 x5 2 x30/100 30,000
81 T 4 OH T AL 4 TH AT 2
10,000,000 574 4%30/ 100 15,000
O SHHLG AL B
20,000, 0002 » 109 4 30/100 60,000
SELEEPBESTINS
25,000, 000! <47} £ 530/100 30,000
ONERUNHT RIS
30,000, 000! 1274 £ x30/100 108,000
B8l 4 5 TH HH £ K| £ 4 36,000 30,000 6.000
408 TXSHS K0 36,000 30,000 6,000
01 AACANERE 36,000 30,000 5,000
BECIEPES T
20,000, 000! 4674 £ 530/100 36,000
ST M AR (I SE 3 AR 335,430 260,943 65,487
2 335,430
403 UXESHS K0 335,430 269,943 65,487
2 335,430
01 AACHR=EEE 335,430 269,943 65,487
RIS IPONT 335,430
= 335,430
IHRENEEAB A (NS DNY-RE) 38,800 20,000 18,800
2 19,400
< 19,400
201 wereety) 19,000 6.400 12,600
2 9,500
< 9,500
01 NSz 19,000 5,400 12,600
Dgerag 5,000
OMEHNBHAENZROS 5,000
2 2,500
< 2,500
DY HE 14,000
OMERREASALATS 14,000
2 7,000
< 7,000




SN sIIER JEXRR
E: zE 223 N (SEHYLL/5Y - 5&)

CHel: ASXS AR } (258 8)
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
202 O44| 3,000 3,000 0
= 1,500
= 1,500
01 =2UWddI 3,000 3,000 0
O30S =KL X 02 ¢ bl 3,000
= 1,500
= 1,500
206 Tz 8,800 5,000 3,800
= 4,400
[ 4,400
01 &bl 8,800 5,000 3,800
OMEA0H2HAEE 2 L 8,800
= 4,400
o= 4,400
301 Let8EAa3a 8,000 5,600 2,400
= 4,000
== 4,000
10 SAIAHIEAZ 5,000 3,600 1,400
OMER2HASHATDAS 5,000
= 2,500
== 2,500
12 JIEIEANZ= 3,000 2,000 1,000
COMEA0 2 HAE LA TIAIAZ 3,000
= 1,500
o= 1,500
IESEESESMA 201,000 153,000 48,000
403 XNXESHHSA=20IN 201,000 153,000 48,000
01 XAXESXMASEX 201,000 153,000 48,000
ONEsSASTEDIMIIIsEE 2
100,000, 000& *3IH1 A~ *30/100 90,000
)01l Lo X1 50% 261 4 K B 1 &
10,000, 000& *22JH 2~ +30/100 66,000
Ox=sdS0HAE LR
30,000,000 «5JH 2 %30/ 100 45,000
IIEAMNFHEI = 325,000 141,000 184,000
403 XXM SKH201H 325,000 141,000 184,000
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A sI=Y J=XE=

Bu: =& 25 N (SUHSLL/5Y - 58)
Sel: ASXS MIIE2E (et9l: &2
_ _ _ Muo
SN -HH - SA(B) - MRAY - BES Ofl & 04 Sl ko HRE2
01 RS ES 325,000 41,000 84,000
DASEARTSETMAAIEET X A
60,000, 0002 *37H 2 ¥30/ 100 54,000
OXo+28EHIISASYNLSEAIY
20,000, 000:& *2J4 A +30/100 12,000
(RE MU S LS04 SH 28 = Al
20,000, 000& *37H 2~ *30/100 18,000
OEARYZSA M T A HEX XA
40,000, 00024 574 2 %30/ 100 60,000
D AASAIL N A
10,000, 000& *57H 2~ *30/100 15,000
(I8 AHS EFHACCPR! S 2 S Al
20,000, 000& «57H 2~ *30/100 30,000
OS2 HRASEBAY
40,000, 0002 *37H 2 %30/ 100 36,000
(s AR A20I AR HI R 2 Al ALY 50,000
0= S0l4E2Xs320]JAH 50,000
HAZ AL F=2EBHE |4 25,000 0 25,000
402 PRI 25,000 0 25,000
01 QX=X 25,000 0 25,000
OHAAYYS SIS IUESY
25,000,000 » 170 2 25,000
AEERFII=ES 26,140 0 26,140
201 LEH23H] 8,300 0 8,300
01 A2l 7,000 0 7,000
Oet=ZH| 5,000
OJENENBROIS 5,000
Degsg 1,000
OZM=ES 1,000
Jgxz 1,000
OMBI} - HREISHZAK
500,000& 23| 1,000
2 2z 1,300 0 1,300
O22R3ILHA 300
OIENENRLESHATS 300
DA & EBIS Xl 1,000
OFHIL AL SR 1,000
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A sI=Y J=XE=

A sE= Has N (SEHYEN/5Y - 58)
ool =9 SEXE AS3E X2 (B9l &2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
206 M=l 15,000 6,000 9,000
= 7,500
= 7,500
01 M=ZHl 15,000 6,000 9,000
et=dESSASNUSHE 15,000
= 7,500
= 7,500
301 ptEasg 5,000 2,000 3,000
= 2,500
= 2,500
10 SAIAHIEANS 5,000 2,000 3,000
(et =2dESsSAS N ISEINSA 5,000
= 2,500
= 2,500
307 QIt0IA 50,000 0 50,000
= 25,000
= 25,000
02 QtFAE X 30,000 0 30,000
[Jet=2dESATANEEHAEE 30,000
= 15,000
= 15,000
05 BIZtREZ 20,000 0 20,000
(et=dESSAstnsAE 20,000
= 10,000
= 10,000
SENRIIXI &4 480,000 164,400 315,600
308 XXIEHHMSOIE 30,000 14,400 15,600
01 AUXSHBAEXZ 30,000 14,400 15,600
L =adSA2HSAIE
10,000, 000:& *5J4 2 +*30/100 15,000
Os=MEzi 2 ARMAIE
10,000, 000& *57H 2~ *30/100 15,000
403 XXIEHSA=01H 450,000 150,000 300,000
01 AXSHX=2E X 450,000 150,000 300,000
OsEH8gZRIASXA
100,000, 0002 *3JH 2 +30/100 90,000
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SN sIIEY JEXVR
M s& sEs N (SERLPN/5Y - 5E)
o9l =9 sEXE 4S5 X8 (5 &2
_ _ _ Muo
SNBSS - HRAY - BHES Aboy e HIRZE2
SEEEEFEFPEE S ENE
50,000, 000! %22} 2 30/ 100 30,000
OASANSEZSTR
25,000,000} *47} 2 30/ 100 30,000
Osalsa 10,000, 0002 *907H £ *30/100 270,000
ENEEESE-IPEp
100,000, 00024 +17H £+30/100 30,000
SEMSI|SAY (LI SZSAEY) 70,000 190,000 120,000
= 70,000
403 RXISHSKZOIR 70,000 190,000 120,000
= 70,000
01 KXICHHI =R E 70,000 190,000 120,000
mEEAESIENE 70,000
2 70,000
SEMHRAAYEE 216,200 159,350 56,850
= 2,000
= 214,200
201 Lur2y| 46,700 44,050 2,650
01 AR 2ell 44,500 40,850 3,650
mEEES=1 25,000
OMEI|SAYSILDEHILENER
oIS 25,000
O2gsy 13,000
ODHARL DKL ALZ L 0| 13,000
Oxe 6,500
OMEIIZANABNAB DI TS YT
500,0002 * 13CH 6,500
00 ZZ2YY 2,200 3,200 £1,000
OZZQ3YHAl 1,200
Os22YsYs s st 1,200
mINPEE=EIESE 1,000
OFHIL AR IR 1,000
202 oft 30,000 30,000 0
01 =UHolb 30,000 30,000 0
S| SAYLRET 0l Y| 30,000
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A sl JI=NE=3

BE: SE 225 IA(SYHSAL/5 - 58)
ool =9 sEXNE ASE XY CRRE]
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2

01 XXNHHBIAZXZ 150,000 0 150,000
OsZ=MEgXNgHERA 150,000
= 150,000

403 XXM SKHE0lH 100,000 0 100,000
= 100,000

01 XXSHHA=2EX 100,000 0 100,000
OlsEusEsH 100,000
= 100,000

sEEdAS) =X (XESINeE23) 310,000 0 310,000
= 310,000

403 XXISHHSA20|H 310,000 0 310,000
2 310,000

01 XAXESXMASEE 310,000 0 310,000
OsEddAS)I=Xd 310,000
= 310,000

SEME 23 2,029,500 2,430,000 400,500
= 569,000
g 1,025,000
== 435,500

M=)z uR(sgMIolEAY) 15,000 15,000 0
= 15,000

308 AHXISHXMISOIA 15,000 15,000 0
= 15,000

01 XXNHHBIAZXZ 15,000 15,000 0
OMEsglsul=x 15,000
= 15,000

SEHLE0IESH 300,000 700,000 400,000
= 300,000

403 XXISHHSA20|H 300,000 700,000 400,000
2 300,000

01 XAXESMASEEX 300,000 700,000 400,000
OsEdd&02s4 300,000
= 300,000

= & TH off o =2t 180,000 80,000 100,000
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=215t CEEED
_ _ _ Muo
- - HA(SA) - NRAE - BE=Z Ol &+ 9K Ol AF o8 HwsZ
ERPETEES 1,025,000 975,000 50,000
X043k 2 O 44 T 0| I K| & 1,025,000
2 1,025,000
ELNE 15,000 16,500 A 1,500
ANSH SO 15,000 7,500 7,500
EXEPEES 15,000 7,500 7,500
EANZAUTDE2SIAIY
10,000,000 *5H 2 +30/100 15,000
SELE 126,000 85,500 40,500
NEEBEEES! 126,000 85,500 40,500
ELERCES 126,000 85,500 40,500
2§ 445] 243 Ao 2l o1
2,000, 0002 *25% ¥30/ 100 15,000
LSRN B DL
25,0002 %6, 000530/ 100 45,000
EHRAIELHRIISDS
10,000, 00024 227} 4 %30/ 100 66,000
2 =LY 289,500 498,000 208,500
XS H S K20l & 289,500 498,000 208,500
ELREEES 289,500 498,000 208,500
EAYMBESH (L)
30,000,0002! % 107H 2 ¥30/ 100 90,000
EAYMBESHE(AUT)
100,000, 0002 47} %30/ 100 120,000
HAWHUXZAH2SA LR
15,000, 0002 *5H 2 *30/100 22,500
EroLsgsTn2 I u2YNY
5,000, 0002 287 2 +30/100 42,000
=B = EDISI TR M EAIY
10,000,000 #5H 2 +30/ 100 15,000
SOTIRAIE (A ESZAY) 69,000 0 69,000
=2 69,000
403 KRGS K201 69,000 0 69,000
= 69,000
ELEEES 69,000 0 69,000
CAME AR AL 69,000
2 69,000
RN 2 180,000 0 180,000
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M sglIsd JIsXd=
A = AMMAAUSH (S LLA/ = - =)

;

ool zeimwsnE (G5 H g
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
=202 EH 0 X0BE A A8 2= (0]
%) 28,000
QU ERSH U= & 243,760 58,703 185,057
= 90,000
= 153,760
101 Q12| 9,500 18,703 £9,203
10 JZHEEREES 9,500 8,703 ~9,203
mEECEES bR
38,8502 1242202 8,547
4t AE 28 2 953
201 sy 79,260 0 79,260
01 ARl 25,260 0 25,260
mETETE =Yl 25,260
OLSHSIZN 7L 360
OASCIHABRHAME M
2,500, 00024 *13| 2,500
OYEHABI= 7Y 200, 0008 *4% 33| 2,400
OZABHOIZHNETY 2,000
OYE22EY 3,000
OYEEIH 0/ ZRY 2,500,000 %63 15,000
;2 2z 54,000 0 54,000
WEEX=E LY 6,000
OYEXHYRHE, SH2, NSIHS (20
) 2,000, 0002 *2CH 4,000
OYsIHRHE 2,000
CIA&EHIS T 40,000
OB S SZHIR b 40,000
CXHE & Bt 8,000
O & X2 & Bl (204) 8,000
202 01t 13,000 0 13,000
01 =Uhoit] 13,000 0 3,000
Dgszzu2o| 13,000
405 X+erz St 142,000 40,000 102,000
= 90,000
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SN sIlER JENAR
M SR WAASH(SYUHRL /5 - SE)

;

oel: =emesudE (e
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
405 XAz SH| = 52,000
01 AAMTSSFSHI 142,000 40,000 102,000
CJQIE{ GBS A A B 2H(0] 2F) 130,000
= 90,000
o= 40,000
DEABEESAYSLIEH 2L
4,000,000 *3CH 12,000
NE=sAHI=E2HEFH(EH) 27,000 27,000 0
= 18,900
== 8,100
101 Q14| 27,000 27,000 0
= 18,900
= 8,100
10 JIZHZ2=XNEES 27,000 27,000 0
OsgllsE23d32308e 26,000
= 18,200
o= 7,800
C4HAIRI 2 E & 1,000
= 700
== 300
Ne=HI=Es3HEFH(AH) 191,480 216,300 N24,820
= 191,480
308 AXISHHMSOIHA 191,480 216,300 AN24,820
= 191,480
01 XXNHMBIAEXZ 191,480 216,300 N24,820
Os2Ile2 SRS (2X0ATN) 144,900
= 144,900
OX Y LMHFEESX & 46,580
= 46,580
SHIGEENA 116,000 379,360 A 263,360
SHIGEBMEXNE 27,000 58,800 A31,800
201 LErEIH| 15,000 42,300 N 27,300
01 ArR2t2|t| 15,000 42,300 A 27,300
R 5,000
O=sgAGAEES =2 HasSR0! 5,000
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